SÉMINAIRE DE PROBABILITÉS (STRASBOURG)

NATHALIE EISENBAUM

Occupation times of Lévy processes as quadratic variations

Séminaire de probabilités (Strasbourg), tome 35 (2001), p. 329-333

http://www.numdam.org/item?id=SPS_2001__35__329_0

© Springer-Verlag, Berlin Heidelberg New York, 2001, tous droits réservés.

L'accès aux archives du séminaire de probabilités (Strasbourg) (http://portail. mathdoc.fr/SemProba/) implique l'accord avec les conditions générales d'utilisation (http://www.numdam.org/conditions). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.



Article numérisé dans le cadre du programme Numérisation de documents anciens mathématiques http://www.numdam.org/

OCCUPATION TIMES OF LÉVY PROCESSES AS QUADRATIC VARIATIONS

NATHALIE EISENBAUM

Laboratoire de Probabilités et Modèles Aléatoires Université Paris VI - 4, Place Jussieu - Case 188 - 75252 Paris Cedex 05

Abstract: Bouleau and Yor [BY] have shown that the occupation time of a continuous martingale can be obtained as a quadratic variation. We extend this result to a large class of Lévy processes.

1 - Introduction

We first recall a result established by Bouleau and Yor [BY]. Let Y be a semi-martingale such that $\sum_{0 \le s \le t} |\Delta Y_s| < \infty$. Y admits then the following decomposition

$$Y = Y_0 + M + A \tag{1}$$

where M is a continuous local martingale and A a process with bounded variation. Let $(\pi_n)_{n\in\mathbb{N}}$ be a sequence of partitions of an interval [a,b] of \mathbb{R} such that $|\pi_n|$ converges to 0 as n tends to ∞ .

They show that $(\sum_{x_i \in \pi_n} (\int_0^t 1_{(x_i, x_{i+1}]} (Y_{s-}) dY_s)^2; n \in \mathbb{N})$ converges in probability uniformly in t on any compact of \mathbb{R}^+ , to

$$\int_0^t 1_{(a,b]}(Y_{s-})d[Y]_s + 2\int_0^t dA_s \int_{(s,t]} dA_u 1_{(a,b]}(Y_{s-}) 1_{(Y_{u-}=Y_{s-})}.$$
 (2)

In the particular case when Y is a continuous square-integrable martingale, they obtain the following convergence .

$$\sum_{x_i \in \pi_n} \left(\int_0^t 1_{(x_i, x_{i+1}]}(Y_s) dY_s \right)^2 \xrightarrow[n \to \infty]{L^2} \int_0^t 1_{(a, b]}(Y_{s-}) d[Y]_s \tag{3}$$

uniformly in t on compacts.

In the special case when Y is a Brownian motion, (3) has also been proved by Perkins [Per].

We establish here a similar result for a large class of Lévy processes.

Theorem 1: Let $(Y_t, t \ge 0)$ be a Lévy process starting from 0. Assume that Y is not a pure step process and that $\sum_{0 \le s \le t} |\Delta Y_s| < \infty$.

Let $(\pi_n)_{n\in\mathbb{N}}$ be a sequence of partitions of an interval [a,b] of \mathbb{R} such that $|\pi_n|$ converges to 0 as n tends to ∞ . Then

$$\lim_{n \to \infty} \sum_{x_i \in \pi_n} (\int_0^t 1_{(x_i, x_{i+1}]} (Y_{s-}) dY_s)^2 = \int_0^t 1_{(a, b]} (Y_{s-}) d[Y]_s$$

in probability, uniformly in t on any bounded interval of \mathbb{R}^+ .

The assumption on the jumps of the Lévy process Y is equivalent to

$$\int (1 \wedge |x|)\nu(dx) < \infty$$

where ν is the Lévy measure of Y.

Remark: If Y is a pure step process, we have immediately thanks to (2)

$$\begin{split} & \lim_{n \to } \sum_{x_i \in \pi_n} (\int_0^t 1_{(x_i, x_{i+1}]} (Y_{s-}) dY_s)^2 \\ & = \int_0^t 1_{(a,b]} (Y_{s-}) d[Y]_s + \sum_{0 \le u, v \le t \atop u \ne v} 1_{\{a \le Y_{u-} = Y_{v-} \le b\}} (\Delta Y_u) (\Delta Y_v) \end{split}$$

in probability. There are simple examples of compound Poisson processes such that the second term on the right hand side is different from 0.

Applications: Let $(Y_t, t \ge 0)$ be a stable process of index $\alpha \in (0, 2)$. We have:

$$[Y]_t = \sum_{0 \le s \le t} (\Delta Y_s)^2$$

We note that for any $\lambda > 0$

$$([Y]_{\lambda t}, t \ge 0)^{(\text{loi})} (\lambda^{2/\alpha} [Y]_t, t \ge 0)$$

Consequently [Y] is a stable subordinator of index $\alpha/2$. If α is in (0,1), Y satisfies the assumptions of Theorem 1. We see then that [Y] can be obtained as the limit in probability of $(\sum_{x_i \in \pi_n} (\int_0^t 1_{(x_i, x_{i+1}]} (Y_{s-}) dY_s)^2, t \ge 0)$ as $|\pi_n|$ tends to 0, where $(\pi_n, n \in \mathbb{N})$ is a sequence of subdivisions of \mathbb{R} .

2 - Proof of Theorem 1

From now on Y is a Lévy process satisfying the assumptions of Theorem 1. Consider the process W defined by : $W_t = Y_t - \sum_{0 \le s \le t} \Delta Y_s$. This process is a continuous Lévy process. Let σ be the constant such that : $E(W_t) = \sigma t$. The process $(W_t - \sigma t, t \ge 0)$ is hence a continuous martingale. Consequently, the process A associated to Y, in the decomposition (1), is equal to $(\sum_{0 \le s \le t} (\Delta Y_s) + \sigma t, t \ge 0)$.

Similarly, for every $\alpha > 0$, there exists a constant b_{α} such that :

$$Y_t = M_t^{\alpha} + b_{\alpha}t + V_t^{\alpha}$$

where: $V_t^{\alpha} = \sum_{0 < s \le t} \Delta Y_s 1_{|\Delta Y_s| \ge \alpha}$,

and M^{α} is a martingale with bounded jumps such that : $\langle M^{\alpha} \rangle_t = c_{\alpha}t$ (for more details about this general decomposition, see for example [Pro] p.32)

We have to prove that : $\int_0^t dA_s \int_{(s,t]} dA_u 1_{(a,b]}(Y_{s-}) 1_{(Y_{u-}=Y_{s-})}$ is equal to 0.

We start by showing that

$$\int_0^t dV_s^{\alpha} \int_{(s,t]} dV_u^{\alpha} 1_{(a,b]}(Y_{s-}) 1_{(Y_{u-}=Y_{s-})}$$
(4)

is equal to 0. We write for a fixed t > 0:

$$\int_{0}^{t} 1_{(v>0)} 1_{\{0\}}(Y_{v-}) dY_{v}
= \int_{0}^{t} 1_{(v>0)} 1_{\{0\}}(Y_{v-}) dM_{v}^{\alpha} + \int_{0}^{t} 1_{(v>0)} 1_{\{0\}}(Y_{v-}) dV_{v}^{\alpha} + b_{\alpha} \int_{0}^{t} 1_{\{0\}}(Y_{v-}) dv
(5)$$

Since M^{α} is a square integrable martingale, we have :

$$E[(\int_0^t 1_{(v>0)} 1_{\{0\}}(Y_{v-}) dM_v^{\alpha})^2] = E[\int_0^t 1_{(v>0)} 1_{\{0\}}(Y_{v-}) d[M^{\alpha}]_v]$$
$$= c_{\alpha} E[\int_0^t 1_{\{0\}}(Y_{v-}) dv]$$

Since Y is not a pure step process, we have thanks to Theorem 1 of [BR] : $IP(Y_{v-} =$

Hence we obtain : $\int_0^t 1_{\{0\}}(Y_{v-})dv = 0$ and $\int_0^t 1_{(v>0)}1_{\{0\}}(Y_{v-})dM_v^\alpha = 0$ a.s. We note then that V^α converges to 0 as α tends to ∞ . Consequently, thanks to (5) :

$$\int_0^t 1_{(v>0)} 1_{\{0\}}(Y_{v-}) dY_v = 0$$

Making use once more of (5), we obtain:

$$\int_0^t 1_{(v>0)} 1_{\{0\}}(Y_{v-}) dV_v^{\alpha} = 0 \quad \text{a.s.}$$
 (6)

Thanks to the right continuity of V^{α} , the process $(\int_0^t 1_{(v>0)} 1_{\{0\}}(Y_{v-}) dV_v^{\alpha}, t \ge 0)$ is a.s. identically equal to 0. This result remains true if the function $1_{\{0\}}$ is replaced by $1_{\{X\}}$ with X any random variable, independent of Y.

We define now the sequence of stopping times $(T_n)_{n\geq 1}$ by :

$$T_1 = \inf\{s \ge 0 : |\Delta Y_s| \ge \alpha\}$$

$$T_{n+1} = \inf\{s \ge T_n : |\Delta Y_s| \ge \alpha\}$$

Let n be a fixed integer. Conditionally on $\{T_n < +\infty\}$, the process $\tilde{Y} = (Y_{T_n+t} - t)$ $Y_{T_n}, t \geq 0$) is independent of \mathcal{F}_{T_n} , and has the law of Y. Similarly, we can write the following decomposition of \tilde{Y}

$$\tilde{Y}_t = \tilde{M}_t^{\alpha} + b_{\alpha}t + \tilde{V}_t^{\alpha}$$

Note that : $\tilde{V}_t^{\alpha} = V_{T_n+t}^{\alpha} - V_{T_n}^{\alpha}$.

Since the variable ΔY_{T_n} is independent of \tilde{Y} , we have , thanks to (6)

$$\int_0^{\cdot} 1_{(v>0)} 1_{\{-\Delta Y_{T_n}\}} (\tilde{Y}_{v-}) d\tilde{V}_v^{\alpha} = 0$$

which means that a.s.

$$\int_{T_{-}}^{\cdot} 1_{(v>T_{n})} 1_{\{Y_{(T_{n})-}\}} (Y_{v-}) dV_{v}^{\alpha} = 0$$

We come back now to the expression (4):

$$\begin{split} & \int_0^t \mathbf{1}_{(a,b]}(Y_{u-}) dV_u^\alpha \int_0^t \mathbf{1}_{(v>u)} \mathbf{1}_{(Y_{u-}=Y_{v-})} dV_v^\alpha \\ & = \sum_{T_v < t} \mathbf{1}_{(a,b]}(Y_{T_n-}) \Delta Y_{T_n} \int_{T_n}^t \mathbf{1}_{(v>T_n)} \mathbf{1}_{(Y_{T_n-}=Y_{v-})} dV_v^\alpha \end{split}$$

Consequently, we have obtained

$$\int_0^t 1_{(a,b]}(Y_s) dV_s^{\alpha} \int_{(s,t]} 1_{(Y_{s-}=Y_{v-})} dV_v^{\alpha} = 0$$
 (7)

Similarly, we have for every n > 0

$$\int_{T_n}^{\cdot} 1_{\{Y_{(T_n)-}\}}(Y_{v-}) dv = 0 \text{ a.s.}$$

which leads to

$$\sum_{T_n \le t} 1_{(a,b]}(Y_{T_n-}) \Delta Y_{T_n} \int_{T_n}^t 1_{(Y_{T_n-} = Y_{v-})} dv = 0.$$

We have actually obtained

$$\int_0^t 1_{(a,b]}(Y_{s-})dV_s^{\alpha} \int_{(s,t]} 1_{(Y_{s-}=Y_{v-})} dv = 0$$
 (8)

The previous argument made at the stopping time T_n , can similarly be written for a fixed time s such that 0 < s < t. We hence obtain

$$\int_{s}^{t} 1_{(v>s)} 1_{(Y_{v-}=Y_{s-})} dV_{v}^{\alpha} = 0 \text{ and } \int_{s}^{t} 1_{(Y_{v-}=Y_{s-})} dv = 0 \text{ a.s.}$$

which lead to

$$\int_0^t 1_{(a,b]}(Y_s)ds \int_s^t 1_{(v>s)} 1_{(Y_{v-}=Y_{s-})} dV_v^{\alpha} = 0 \quad \text{and} \quad \int_0^t 1_{(a,b]}(Y_s)ds \int_s^t 1_{(Y_{v-}=Y_{s-})} dv \quad (9)$$

We set then

$$A_t^{\alpha} = V_t^{\alpha} + \sigma t$$

Thanks to (7), (8) and (9), we can write

$$\int_0^t 1_{(a,b]}(Y_s) dA_s^{\alpha} \int_s^t 1_{(v>s)} 1_{(Y_{v-}=Y_{s-})} dA_v^{\alpha} = 0$$

Letting α tend to 0, we finally obtain, by dominated convergence

$$\int_0^t 1_{(a,b]}(Y_s) dA_s \int_s^t 1_{(v>s)} 1_{(Y_{v-}=Y_{s-})} dA_v = 0 \quad \Box$$

Acknowledgement: I thank Marc Yor for helpful comments.

References

- [BR] Blum J.R. and Rosenblatt M.: On the structure of infinitely divisible distributions. Pacific Jour. Math. 9,1-7 (1959).
- [BY] Bouleau N. and Yor M.: Sur la variation quadratique des temps locaux de certaines semi-martingales. C.R. Acad. Sc. Paris, t. 292 Serie I, 491-494 (1981).
- [Per] **Perkins E.**: Local time is a semi-martingale. Zeitschrift für Wahr. 60, 79-117 (1982).
- [Pro] **Protter P.**: Stochastic integration and differential equations. Springer-Verlag (1990) Applications of Maths. 21, third printing 1995.